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ANBHEAMEE EMTEEERE - EMPHEESE (Bfz - M)
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1. REBROS
(1) BERE
ORthEEEER NG [ 8, 620, 000 ] A 420,000 ] 8,200, 000 1]
TE A # % B #f 1 A 8, 620, 000 A 420, 000 8,200, 000
Q% W # B & % [ 57, 347,000 ] A 9,737,000 ] 47,610, 000 ]
7 RHMTMEREEEDE 56, 847, 000 A 9,747,000 47,100, 000
1 REBENRREVBEEEDE 500, 000 10, 000 510, 000
Ot 1 A [ 5,000 ] 0] 5,000 ]
T O Iz A 5,000 0 5,000
EEET 65, 972, 000 A 10,157,000 55, 815, 000
(2) BREER
O #h & H & B F ¥ & [ 13,595,000 ] A 3,625,000 ] 9,970,000 ]
TR A H# T & A& 9, 265, 000 A 1,065, 000 8,200, 000
TERRAMEEEEEZTRE 4, 330, 000 A 2,560,000 1,770, 000
Qr th P M E B E X X B & [ 54,924,000 ] A 6,134,000 ] 48, 790, 000 ]
7 A % & 11, 500, 000 700, 000 12, 200, 000
1’k # = B OE 1,700, 000 A 300, 000 1,400, 000
v & % & 4,500, 000 600, 000 5,100, 000
Ik E= & 170, 000 0 170, 000
* & & # 3,000, 000 A 1,000, 000 2,000, 000
hE B F H & 33, 804, 000 A 5,954,000 21, 850, 000
*xr 0 2 B B 250, 000 A 180, 000 70, 000
BEERE 68, 519, 000 A 9,759,000 58, 760, 000
Tt 48 25 5 B AT 2 B R R AR A 2,547,000 A 398, 000 A 2,945,000
P I F AT 0 0 0
LEERIERE A 2,547,000 A 398, 000 A 2,945,000
2. RENEROH
(1) BEESIRE
EESMEE 0 0 0
(2) BEHNER
RENERE 0 0 0
LEREEIMERER 0 0 0
LH—ARIERREA IR IRAE A 2,547,000 A 398, 000 A 2,945,000
—RERMEHREES A 11, 246, 000 A 792,000 A 12,038,000
—RIERMERRES A 13,793, 000 A 1,190, 000 A 14,983, 000
I $RTEIERREEZBDE
& 85 7E IE WK B PE YRR 2R 0 0 0
EEERMEHERS 0 0 0
EEERMERRES 0 0 0
I ERMEHRES A 13,793, 000 A 1,190, 000 A 14,983,000




